LOGARITHMS
SELECT THE CORRECT ALTERNATIVE (ONLY ONE CORRECT ANSWER)

1 The value of x, satisfying the inequality logo 5(X* + 8) > logo 39X, lies in
(A)1<x<8 (B) 8<x<13
(C) x>8 (D) none these
1
2. If a=log,,,+0.125 and b = log [—] then
1/2 3 \/ﬂ _ \/ﬁ
(A) 0, b>0 (B)a<0,b<0
(C)a>0, b<O (D)a<0,b>0
3. The number log,7 is
(A) rational number (B) irrational number
(C) a prime number (D) an integer
4, The value of x, satisfying3*°% (") — p2oe&:x | 3 g
(A)x=0 B)x=1
C)x=2 (D)x=3
1 .
5. The value of + is
log; = log, m
(A) 2 (B) less than 2
(C) more than 2 (D) none of these
6. The value of |logpa + log,b| where a and b are positive numbers is always
(A) 22 (B)<2
=2 (D) none of these
7. lfa>0,c>0,b=+ac,a=1,c=1,ac#1andn>0, then the value of
I -1
M is equa| to
log, n—log. n
A log, n B) log, a
log, n log, ¢
(C) logca (D) none of these
8. The value of 7Iog£+5logz—5+3logﬂ is
15 24 80
(A) log2 (B) log 3
©0o (D) none of these
9. Values of x satisfying the equation
10g 253) (6x2 +23% + 21) =4 -10g3,.7) (4x2 +12x + 9) are
1 1
A) -1, —-= B) -2, —-—
(A) 3 (B) 2
1 1

© -1.-7 0)-2,-3



10.

11.

12.

13.

14.

15.

16.

17.

18.

Value of x, satisfying the equation
X

lo
Ealoga x.logg al0g, 5 _ 3 Qlo(mj — Q09100 X+1084 2 o

5
(A) 50 (B) 100
(C) 150 (D) 200
1 1 1 1 .

+ + o + is equal to
log, n logzn log, n logss N

logn 1
(A) —o (B)

log(43!) l0g 45N

(C) logaa n (D) none of these

If l10go.3(X — 1) <l0Qo0o(x — 1), then x will lie in the interval

(A) (2, x) (B) (1,2
(©) (-2,-1) (D) none of these
The value of W is
IOgb (IOga b)
(A) logab (B) logpa
(C) —logab (D) none of these

The values of x, satisfying the equation for V.a> 0
2log, a +log,, a+3log, a=0 are

(A) a2 at (B)a? a*
©)a? at (D) a3, a¥?

The value of x, satisfying the equation
log,, (98 %3 - x2 —12x +36) =2is

(A) -3 (B) -4
(C)-5 (D)-6

If 4'°%3 4 90924 — 10'°%83 then x is equal to

(A) 2 (B) 10

© )9 (D) none of these

fx>1,y>1,z>1areinG.P, then 1 , 1 , 1 are in
1+Inx 1+Iny 1+Inz

(A) AP (B) G.P

(C)H.P (D) none of these

log, (Iog2 (Iog@ 81)) is equal to

(A) 2 (B)1
(© 3 (D) none of these



rInx _Iny Inz

19. Fo = = , Xyz is equal to
b-c c-a a-b
(A) 1 (B) abc
<o (D) none of these
20. The number of solution of logs (X — 1) =log, (X — 3) is
(A)3 (B)1
€)2 (D)0
Answers
1. A 2. A 3. B
4, B 5. C 6. A
7. A 8. A 9. B
10. B 11. B 12. A
13. C 14. D 15. B
16. B 17. C 18. B
19. A 20. B
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